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01 One-Way ANOVA

02 Randomized-Block ANOVA

/

03 Two-Way ANOVA
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ASSUMPTION
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ONE-WAY ANOVA
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BLOCK ANOVA
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TWO-WAY ANOVA
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ANOVA: Analysis of Variance
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1 Y33

A 91490 9-3 LAAIAIANULUIYDINANTD UNNIIA14%)

RIGRE observations
a50 29 26 21 29 29
900 38 38 21 43 62
950 62 58 58 62 62
1000 43 27 50 33 50
1050 29 26 26 26 62

ONE WAY



1 UY33¢)

[~
M 3190 9-13 wanstnuinvesauld (Frad1il 9-5) THOV2921UT
DISTUAN 1 91WsTien 2 DINSTUAN 3 DIMSTURN 4
0.2 1.4 1.9 0.5
0.5 1.2 20 1 5
0.3 1.3 15 1 2
0.9 1.7 0.6
1.0 08

ONE WAY



2 Yaael
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HFEIDE4
d13LAl A 5 C D
1 1.5 2.0 1.6 3.5
2z 1.6 2.4 1.7 4.0
3 0.5 0.4 0.6 2.0
q 1.2 2.0 1.5 4.1

Tiaas vinasafiilanansfulinaseAauudaadovesnnvseld Assduted o = 0.05
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A151491_92-30 udanapananals nudidaw

“aosnafi 9-12)
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JzAUUsaIRty 0.05

A15197 9-45 LAAIHAHNONENIINSLIOUABUNILADS (AD887191 9-18)

UNLSeu ATUAINITONINTSUU
ABNAILADS i Junand fau
Un® 2 3 1 3 8 10
3 a 5 q 10 12
IaRilme 5 2 3 5 8 5
3 q 7 2 10 5

2 Uadel
BLOCK

2 433y
TWO WAY
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A151491 9-28 uandazluudauImdng (e’ 9-11)

- fan Jaapuyni
1 Vi 3
1 66 76 55
2 84 71 79
3 70 85 65
ul 78 79 66
WNeAFRUNTRAUNFRZTALANEINIELANAINUWSal  Tiseautedndy 0.05

BLOCK

2 43¢l
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ONE WAY ANOVA

treatment ObserOtiOnS total
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A1 UTUTIHTIN (Total Sum of Squares 3 SST) AZLAONIAIN 2 U9 @D
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611319 ANOVA

source SS df ms F.

SStreat MS

Treatments sstmm k-1 rea treat > Fa’ k—1N—k
k-1 MSE

Error SS, n-K SSg
N — k

Total SS._ n-1
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o 0 P ' o 0 Py an 0
§1994)19N 9.1 129NITNOFIUIN %cotton VNN INITUeT%LuwTo L3

d ¥ @V (. 4
NITOURLIIAQ 0.01

1833y K =5 =n,=n,=n,=n.=5 N =25
%cotton observations total
10% 10 7 12 10 10
20% 15 15 12 16 20
30% 20 18 18 20 20
40% 16 12 13 14 13
50% 10 5 7 7 10
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%cotton observations total
10% 10 7/ 12 10 10 y, = 49
20% 15 15 12 16 20 Y, =8
30% 20 18 18 20 20 Y, =9%
40% 16 12 13 14 13 Yy, = c8
50% 10 5 7 7 10 Yy, =39

y = 330
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%cotton observations total K=5
10% 10 7 12 10 10 y, =49 n,=n,=n,
20% 15 15 12 16 20 Y, = =n,=n,=5
30% 20 18 18 20 20 Y, =% N = 25
40% 16 12 13 14 13 y, =68
50% 10 5 7 7 0 y, =39 y =330

¢ 2 4848 1356
SS; = D)V - = [10%72412% L 4774107 — = 492.0
Fl"lzl 2 2 y 1002 2 R
2 . 49 +78° +96“ + 68 + 39 2
SSireat = 23’1. . 4 = — 330 = 413.2
i n N 5 25
SS, = SS. - SS, .., = 492.0 - 4132 =788 te



SS. = 4920 S5 = 413.2

T treat

f11s1J ANOVA

SS_ = 7838

€

source SS df ms F.

Zcotton 413.2 K-1=4 1033 26.218 Fo.o1, 4,20 4.43

Error Vi
V2 ' |

Total '| 2 3 L 4 ) 5 6 7 8 9
16 8.53 6.23 5.29 477 4.44 4.20 4.03 3.89 3.78
17 8.40 6.11 5.18 4.67 4.34 4.10 3.93 3.79 3.68
18 8.29 6.01 5.09 4.58 4.25 4.01 3.84 S 3.60
19 8.18 5.93 5.01 4.50 417 3.94 3.77 3.63 457
20 8.10 5.85 494 443 @ 4.10 3.87 3.70 3.56 3.46
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78.8

SS. = 4920 S5 = 4132 5SS

T treat €

f11s1J ANOVA

source SS df ms F.

%cotton 4132  K-1=4 1033 26218 > Fygq420° 443

Error 788 N-K=20  3.94
Total 4920 N-1=24
Fo=26.22> F .0 =443 &9%% Reject HO

37Uleidn %cotton TwANTenY douseieludulunssduiudd 0.0



Randomized Complete Block ANOVA

o] 1 2 o]

total
1 Y. Y, e Yip Y.
2 Y, Y, e Yoo Y,
Y1 Y2 Yo I
Y., 902 ..... y b y"
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JNNGIF 1%
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u, #u, 9UNY 14
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JNGIF 1% U, =u, =U, = ..U

HO . 1 2 3 n
] 9 0
Hyt u, #u, 9U19%9Y 1§

A1 UTUTIHTIN (Total Sum of Squares 3 SST) AZLAONIAIN 2 U9 A

SST = SS + 8§ + 8§

treat block E
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JNNGIg 1% U, =u, =U, = ..U
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A1 UTUTIHTIN (Total Sum of Squares 3 SST) AZLAONIAIN 2 U9 A

SST = S§S + 8§ + SS

treat block E

Toy
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JNWNFI% , = Uy = U
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JNNGIg 1%
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H,
H, 3

U-,l = U2 = Ua = ...=U.n
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SSblock ZFJ N
=1
SSE = SST - Sstreat =SS block

28



611979 ANOVA

source

SS

df

MS

Treatments

Block

Error

Total
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611979 ANOVA

source SS df

MS

Treatments SS treat

Block SS, ..k
Error SSE
Total SS
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611979 ANOVA

source SS df MS
Treatments SS, . K-1
Block S b-1
Error §S_ (k-D(b-1)
Total SS N-1
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611979 ANOVA

source SS df MS
Treatments SS, . k-1 SS, i/ (K-
Block 8, b1 8S ./ (b1
Error §S_ (k-1)(b-1) S _/(k-1)(b-1)
Total SS N-1
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611979 ANOVA

source SS

df MS

F

C

Treatments SS treat

Block SS, ..k
Error SSE
Total SS

Fﬂ1§"\\‘i

- _ F o ko (erhe
K-1 SStreat/(k 1) I"\Streat/l“'\sE > OLK-1,(K-1)(b-1)

b1 SS,_/ (b-1)

(k-1)(b-1)  SS_/(k-1)(b-1)

N-1

Treatment 262
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611979 ANOVA

source SS

df MS

F

C

Fﬂ1§"\\‘i

Treatments SS treat

Block SS, ..k
Error SSE
Total SS

K-1 SS treat/ (k-1) MS treat/ MSE < Fa,k-'l,(k-'l)(b-'l)

b1 SS,_/ (b-1)

(k-1)(b-1)  SS_/(k-1)(b-1)

N-1

Treatment 12302
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n1A K
b =4 A B C D
IKUD 16 11 12 10 49
ddau 9 12 15 9 45
nanJ 15 1" 10 16 52
(3] 13 14 12 14 53
53 48 49 49 199

16
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n1A gio | k=4
IKUD 16 1 12 10 49
dd1u 9 12 15 o 45
nanJd 15 1 10 16 52
1] 13 14 12 14 53
53 48 49 49 199
2435.063
kK n y 2559 1992
ZZ 2 o [162+11%+12%+...+14%) — = 83.937
£, N 16
= i =1 24.38.350 2475.063
y? Yo  532448244924492 1992 _
treat z— — = — = 3.68?
b N 4 16
l=b , 2484 .750 24?5.063
2 2 2 2 2
55, - Z—] YT _ 497+457+52°+53° 1997 - g 687

J?



SS, = 83.937 SS,_, = 3.687 S5, = 9687 SS, =SS —8S_ . —SS
SS. = 83.937 — 3.687 — 9.687 = 70.563
11979 ANOVA
source SS df MS F.
d%o 3.687 3 1229 0.157 Foor 3 9 = €39
Block 9.687 3 | &
| 2 I 3 4 5 6
Error 70.563 9 6 1375 | 1002 | 978 | 915 | 875 | 847
l 7 1225 | 955 | 845 | 785 | 746 | 7.19
Tota 83.937 15 ] 1126 | 865 | 759 | 7.01 663 | 6.37
9 1056 | 802 6.99 642 | 606 | 5.80
10 | 1004 | 756 | 655 | 599 | 564 | 539
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SS, = 83.937 SS

611979 ANOVA

= 3.687 S5, = 9.68% SS_ =SS, — SS — SS

block E treat block

SS. = 83.937 — 3.687 — 9.687 = 70.563

E

source SS df MS F.

%o 3687 o 1229 oas? & Foo0130 = 699
Block 9.687 3 3.229

Error  70.563 9  1.840

Total 83.937 15

J7UL691 S Tngdwnofio Lafinadousaniy Assdiuiiudife 0.01
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TWO-WAY ANOVA

Factor A FactorB |
K 1 2 | total
1 l112 9121 = | T U" = D
Y'l'l. Y12. Y'12. g‘l..
: Y410 Ji2n | o Jiln
2 212 9221 2 | T gzl 2
Y21. Y22. Y22. 92..
Uzm gzzn """ g2In
k k12 gk21 i | T gkl 2
Y2’l. Y22. Y‘12. 92,.
: IKkin Ik2n | v Kin
g,q, g.2. g.2. g...
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gedaNbigw  HO 2 APy = o, W1 3

AN UTUTINTIN (Total Sum of Squares 3 SST)

SS, =SS, + S5, +§S,, + SS

T E

aprj # o,

9¢19%9¢ 1 A"
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gedaNbigw  HO 2 APy = o, W1 3

AN UTUTINTIN (Total Sum of Squares 3 SST)

SS

T

oy SS, §

n=1j

SS, + SS, + S5, + SS,

I k 5
aye ijn _N

1i=1

aprj # o,

9¢19%9¢ 1 A"
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gedaNbigw  HO 2 APy = o, W1 3

AN UTUTINTIN (Total Sum of Squares 3 SST)

SS

T

n L k
To N %

ss, = >y L=

SS, + SS, + S5, + SS,

aprj # o,

9¢19%9¢ 1 A"
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gedaNbigw  HO 2 APy = o, W1 3

AN UTUTINTIN (Total Sum of Squares 3 SST)

SS. =SS, + S5, +SS,, + SS_
n k 2
1o ss. = yyyyzm — Y.
n=1j=1i=1 N
ss, - SU_ ¥
A i=1 In N
l )2 yz
j=1

aprj # o,

9¢19%9¢ 1 A"
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9N ANEIF 1%

Ho s apij = o, W s

AN UTUTINTIN (Total Sum of Squares 3 SST)

Tae

SS, =SS, + S5, +§S,, + SS

T E

n k
2
5, =3y
n=1j=1i=1 N
kY.
_ Yi yZ..
SS, = n N
& In N
i=1
L2 y2
ss, = 3t - L=z
J=1 N
Il k
] Zzﬁr y*..
Sssubtotal - l.n N

aprj # o,

9¢19%9¢ 1 A"
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9N ANEIF 1%

Ho s apij = o, W s

AN UTUTINTIN (Total Sum of Squares 3 SST)

Tae

SS, =SS, + S5, +§S,, + SS

T E

n k
2
SST - S“ S“S“ylzjn - y—
n=1j=1i=1 N
kS 5 2
ss, = L~ y
=" N
l )2 yz
- i — X
SSB - : n T
j=1
l k
_— Zy_f y=..
Sssubtotal - l.n N
Jj=11=1
SSAB - Sssubtotal - SSA - SSB

aprj # o,

9¢19%9¢ 1 A"
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9N ANEIF 1%

Ho s apij = o, W s

AN UTUTINTIN (Total Sum of Squares 3 SST)

Tae

SS, =SS, + S5, +§S,, + SS

T E

n k
2
SST - S“ S“S“ylzjn - y—
n=1j=1i=1 N
kS, 2
ss, = L~ y
= N
l )2 yz
ss, = )+t - =&
j=1 " N
L k2 2
Yij. y o
Sssubtotal ) ZZ? - N
Jj=11=1
SSAB - Sssubtotal - SSA - SSB
8§, = SST -85, —8S, —SS

aprj # o,

AB

9¢19%9¢ 1 A"



611979 ANOVA

source SS df MS F
A SS, K-1 SS,/(k—1) MS, /MS, F 0Lk =1, (K1)(n-1)
B SS, [-1 SSg/(l—1) MS,/MS_ FOL,l-1,(kD)(n-1)
Interaction AB SS,,  (K=D(-1) SSap/(k —1)(I—-1) MS,/MS, > F Ot (k-1 (-1, (KD(n-1)
Error ss. (k-1 SSp/(k1)(n— 1) Yadusonve9llady A was B VR
Total SS N-1
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611979 ANOVA

source SS df MS F.
A SS, K-1 SS,/(k—1) MS, /MS, F 0Lk =1, (K1)(n-1)
B SS, -1 SSg/(l—1) MS,/MS_ F L1, kDin-
Interaction AB §S,, (kK-D(-1) SSup/(k—1D(—-1) MS_/MS < E 0Ly (k=) (=15 (k1) (n-1)
Error ss, (-1 SSg/(kD(n—1) Iwllgiladiu A uaz B ¢id
Total SS N-1

°0



figodined 9-21 wiudugoenisaantuukuanoieialiluaunsaiodneniie Feazgnirtudilugmugd
ARNRAY 19161090159 3133NULULF % plate V29 Ua6DT wazgaenr)d (Tuan1zn1sddern) wa
W39 1061901915 TF %I IL UNLE1DT LU LEDINULUUNITNORDY 36 runs LOINIE11T 19 29FTUNANT

NOFIUH NITEOUKUI1AY 0.01
nN=4 N-=236

A k=3 B orurni (°c) | =3
BuUAY2II4dn 30 90 150
- =
A < 130 155 > 34 40 20 70
74 180 80 75 82 58
N ,/
B 150 188 136 122 25 70

159 126 106 115 58 45

C 138 110 174 120 96 104
168 160 150 139 82 60

o1



3 N=4 N-=36

36

a k=3 B awukni (°c) |
yuAY2IIden 30 90 150
130 155 | 34 40 20 70
539 229 230 298
74 180 | 80 75 82 58
150 188 | 136 122 | 25 70
623 479 198 1300
159 126 | 106 115 | 58 45
138 10 | 174 120 | 96 104
576 583 342 1501
168 160 | 150 139 | 82 60
1738 1291 770 3799
478547 400900.028
2. 2 ) . 37992
Yijn _T = [130 +155¢ +...+60 ] — - 77,646.972



B awukni (°c) |

3 N=4 N-=36

A k=3 -
yuAY2IIden 30 90 150
A 130 155 | 34 40 20 70
539 229 230 998
74 180 | 80 75 82 58
B 150 188 | 136 122 | 25 70
623 479 198 1300
159 126 | 106 115 58 A4S
C 138 10 | 174 120 | 96 104
576 583 342 1501
168 160 | 150 139 | 82 60
1738 1291 770 3799
kY, 411583.750 400900.028
_ 'Y 2 2 2 37992
SS, = i _ 998%+1300%+1501% 2 - 10,683.722

=1

12

23



A k=3 B qukgd (°C) 1=3 n=4 N=36
yuAY2IIden 30 90 150
A 130 155 | 34 40 | 20 70
539 229 230 998
74 180 | 8075 | 82" 8
B 150 188 | 136 122 | 25 70
623 479 198 1300
159 126 | 106 115 | 58 45
C 138 110 | 174 120 | 96 104
576 583 342 1501
168 160 | 150 139 | 82 60
1738 1291 770 3799
440018.750 400900.028
RN 17382+412912+7702 37992
SSg= ) it - = - = 39,118.722
c—kn N 12 36



B awukni (°c) |

3 N=4 N-=36

A k=3 -
yuAY2IIden 30 90 150
A 130 155 34 40 20 70
539 229 230 998
74 180 | 80 75 82 58
B 150 188 | 136 122 25 70
623 479 198 1300
159 126 | 106 115 58 45
C 138 10 | 174 120 06 104
576 583 342 1501
168 160 | 150 139 82 60
1738 1291 770 3799
Lk 5 460316.25 400900.028
- Yo 2 2s... 2 37992
SuUB '22 N - 23974229 +. 43427 _ 3¢ = 59,416.222

o5



§S. = 1%,646.972 SS, = 10,683.722 SS; = 39,118.722 S5, = 53,416.222

SS,, = §S,, — SS, — SS, = 9,613.378

%ﬁa%ﬁaumamwf 3 Auasioogyn1slenm

V9L UGILHDT NTSOUNLIIAQ 0.0

SS, = §S. — §S, — SS, - SS,, = 18,230.75

source SS df ms Fe FA1S1)

— = e W [~
sundan A 10,683.322 2 5,341.861 3.91  » Foo.. .. =549 THEINEG AN

—_ e @
9CUKNIJ B 39,118.722 2 19,559.361 28.968 ) Foouzgs = 5:49 RN AW
Interaction AB 9,613.7718 4  2,403.445 3.560 < Foonanes - 4
Error 18,230.750 27  675.213
Total 17,646.972 35

o6
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